(017222 @»»d  t1o000ona0aannoHHodel Linear Guides with Bal Retainer (for Heavy use)

W
4-M X Qi
w
t2
A —
Gk — 4
F ‘( T T (
H @ @
T h
i
Hol | o, T
01310LGHROOODODOOO
ooooOooag ooooOoag 0000000000000 ooooo
H H, ) W L w [} L, F Mx ¢, T h P G
LGHR15 28 4.6 9.5 34 55 26 26 39 23.4 M4x 6 15 15 60 20
LGHR20 30 5 12 44 69.8 | 32 36 50 25 M5x 6 20 18 60 20
LGHR25 40 7 125 48 79 35 35 58 33 M6x 9 23 22 60 20
LGHR30 45 9 16 60 856 | 40 40 59 36 M8x 10 28 26 80 20
LGHR35 55 9.5 18 70 | 109 50 50 80 455 | M8x 12 34 29 80 20
013200000000
oooooag Ooooooooo
190 590 1q00 15‘00 2090
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
LGHR15 } } } } } } } } } } } Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il |

T T T T T T T T T T T T T T T T T T T 1
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900

160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
I T T T T T T Tt T Y T T S}

LGHRZO % % % T T T T T T T T T T T T T T T T T T T T T T T T T T T T
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
LGHR25 1
280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
280 440 600 760 920 1080 1240 1400 1560 1720 1880
LGHR30 11—
360 520 680 840 1000 1160 1320 1480 1640 1800 1960
280 440 600 760 920 1080 1240 1400 1560 1720 1880
LGHR35 —ttt——t—t———t
360 520 680 840 1000 1160 1320 1480 1640 1800 1960

0000 | LGHR25 OCG 02 x1300

0ooo 00000 (L)
= 7 [sfs)ufsisysfaNalafa)ukalslais]s]
oot
|ES BETY—R
CG =G =R
VG EZEJJ—R
HG =Ry U—R
FG BRIY—R

198 X —ADHEKPIOSE



LGHR series qeq® [ZRC

N L
L
2

I I

OO L L

G nXxP (G)
Lomax
Mx My Mz
Ve Y e
goooo gooooo0o0ooo (oooooo goooopoooo
C C, Mx My M,

Dx dx f Lo | OODO ty N DPEkNOOKNODKNOImOD kNOmOO kNOmO| Okgd [0 kg/mO
7.5x 4.5x 5.3 | 2000 03 8.5 33| 116 17.5 0.10 0.09 0.08 1.6
9.5x 6 x 85| 3960 | Méx 0.75 | 5 11 19.1 29.7 0.21 0.19 0.18 2.6

11 x7 x9 3960 | M6x 0.75 | 10 11 275 | 395 0.31 0.30 0.28 3.6
14 x9 x12 | 4000 | M6x 0.75 | 10 11 347 | 49.2 0.50 0.39 0.36 5.2
14 x9 x12 | 4000 | M6x 0.75 | 15 11 520 | 76.0 0.94 0.79 0.74 7.2
BAGL o mm
gooooooooo ooo
2590 3090 3590 40‘00 oooo
2000
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880
—_ 3960
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
%029 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 2590 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 3190 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 3790 ‘ 38‘20 ‘ 39‘40
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1 3960
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 ] 4000
T T T T T T T T T T T T T T T T T T T T T T T T 1
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880
2q40 ‘ 2290 ‘ 23‘60 ‘ 25‘20 ‘ 26‘80 ‘ 28‘40 ‘ 3090 ‘ 31‘60 ‘ 33‘20 ‘ 34‘80 ‘ 36‘40 ‘ 3890 ‘ 39‘60
T T T T T T T T T T T T T T T T T T T T T T T T 1 4000
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880

199





